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	Rappel :
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x     5

2 8 0
	
	2715 3

x       4

3 0 1 2
	
	45 750 8

x          7

3 9 9 5 6
	


· Complète :

	5 x 9 = 45
10 x 5 = 50
5 x 3 = 15
6 x 0 = 0
4 x 4 = 16
6 x 7 = 42
2 x 9 = 18
6 x 10 = 60
	3 x 7 = 21

4 x  9 = 36

 8 x 5 = 40

2 x 8 = 16

7 x 7 = 49

6 x 6 = 36

9 x 3 = 27

4 x 8 = 32
	8 x 7 = 56

2 x 5 = 10

9 x 9 = 81

9 x 1 = 9

5 x 5 = 25

4 x 7 = 28

4 x 6 = 24

9 x 4 = 36
	8 x 6 = 48

7 x 4 = 28

3 x 8 = 24

9 x 5 = 45

4 x 7 = 28

3 x 6 = 18

9 x 3 = 27

5 x 8 = 40
	2 x 10 = 20

6 x 1 = 6

2 x 4 = 8

5 x 7 = 35

7 x 3 = 21

8 x 8 = 64

5 x 5 = 25

7 x 6 = 42


	6 x 6 = 36

7 x 8 = 56

3 x 7 = 21

3 x 6 = 18
	5 x 5 = 25

5 x 9 = 45

4 x 8 = 32

7 x 7 = 49
	3 x 9 = 27

4 x 7 = 28

6 x 9 = 54

4 x 4 = 16
	5 x 8 = 40

6 x 7 = 42

6 x 2 = 12

5 x 10 = 50


· Calcule : (Attention aux retenues !…)
	25 8

x    3
1 7 4
	17 2

x    5
3 6 0
	19 3

x     6
5 5 8
	17 6

x    2
1 5 2
	2 0

x    8
1 6 0
	18 6

x    3
2 5 8


	2817 4

x       3
2 6 2 2
	2772 8

x      9
6 5 5 2
	39 6 1

x       5
4 8 0 5
	5317 2

x       7
2 6 0 4
	29 6 0

x       4
3 8 4 0
	5248 8

x      6
1 7 2 8


	2325 6

x       4
1 4 2 4
	541 8

x       5
2 5 9 0
	6677 9

x       8
5 4 3 2
	2 0 1

x       9
1 8 0 9
	14 9 1

x       2
9 8 2
	3345 7

x       7
2 4 9 9



· Pose en colonnes et calcule :

	706 x 5 = 3 530
	486 x 7 = 3 402
	860 x 9 = 7 740
	4 273 x 4 = 17 092

	730 6

x       5
3 5 3 0

	
	6448 6

x       7
3 4 0 2
	
	58 6 0

x       9
7 7 4 0
	
	142217 3

x         4
1 7 0 9 2
	


